BRI AR B MRS 5%

(154 M)

PERI m A NNl BloA g (10%) i =B
T — 23,500 25,850
R A 11,5004 12,650
AR TV AT YT A 11,500/ 12,6508
TroB—%T 4,100/ 4,510
BT [R7FA (FEUR) 2,000/ 2,200/
A |(EAReYyY 4,100 4,510/
BERAARZY A 10,4004 11,440
HRHAR—Y= L ATy I A 10,400/ 11,4404
FEEADTA (Jaw) 12,5004 13,750
= hAR () 6,000 6,600 i EH DA
=yht—%—(#) 8,700 9,570/ wLEEDH.
WEAT—T7— 7,300 8,030 T RE DI
T — 22,000/ 24,200
AF7—h 14,3004 15,7304
R AT S 3,900/ 4,290
U 1,600 1,760
HAhA— =T TT R 7,600 8,360
BRAH—K 14,600 16,060
AT A 7504 825M
LT |NNAV IR bR 3,500 3,850
A vFa5—Yyr=x 5309 5831
WEAMNTEA V) 12,5009 13,7504 EBbLh—o
BEANEA G F=v2) 15,400/ 16,940 DAERL I
~77—=(F—ErTF =) 4,400/ 4,840M WLHDH
=y h_ZNNT L —) 4,500/ 4,950/ TLE DS
=ybMg—F— (L —) 5,300H 5,830/ LEDOH
Pe—h—F 45 (2) 9,100 10,010/ HEHEDE.
hovFa—h 26,4004 29,040 THLEEDH
WwEfAu—77— 6,000 6,600 WLEFEDL.
B | N T 4T a—k 22,500 24,750 FLEHEDI
| ¥y T a—k 25,0004 27,500 HLEFEDL.

clielsu

N l=

AJE [AME] 78 3 4 R TS
TEL 052:585-2524 (&)
T 450-8505 44 BT PR X4 BR1-2-1




R

HilAk Ak e ks sk (235 M)

ez h & AARATFE BIATERE (10%) fiF =
VA 25,500 28,050
2GR 12,300 13,530/
T F—%Y 4,100 4,510
BI |\ 2754 FEOR) 2,0003 2,200
A [ ERARayyY 4,100 4,510
BRAAZy I 10,400 11,440M
WERANMTA Yzvy) 12,500 13,7504
=2 () 5,000 5,500 FHEZEDI
=yhE—&— (i) 9,700/ 10,670M HEEDH
BEAD—77— 7,300 8,030 FHEEDOH
TLH— 23,5004 25,850
A7 —h 15,8004 17,380
BT 592 3,900/ 4,290
iRy 1,600 1,760M
Heth A — N — T 5 R 7,600 8,360
EHAAH—h 14,600 16,060M
NAY IR 750 825
TF\NAVyIA 5 3,500 3,850
R ([LXaF—YyIA 530 583M
WERAMEA Yzy7) 12,5004 13,7504 EHbh—2
WERNIA (S —FF=zvP) 15,400/ 16,940 VTHEA
T T— (=B F ) 4,400 4,840H FEE DI
=y hRANNT ) 4,500 4,950 T LEH DI
Zyhg—&— (71 —) 5,300/ 5,830 HEEDH
Ye—h—F4H () 9,100M 10,0109 FHEEDOH
rovFa—hk 26,4004 29,0401 HEEDH
WEHn—77— 6,000/ 6,600 FrLE DI
B ¥ N T4y a—k 22,500 24,7504 WLEEDH
[ [F 7 a—h 25,000 27,500 FHEEDIH

clieisu
SHEENG

AIE[ARE] 78 24 R 7TH
TEL 052-585-2524 (& &)
T 450-8505 4 B AT X4 BR1-2-1




filAk B EMiER (1F4£H)

k3l gn & AA{ATRE Fliaflg (10%) i =
TLAf— 23,5001 25,8504
AT A 11,500 12,6500
AR — YT RT I A 11,500H 12,6504
HoB— 4,100/ 4,510/
BF | 2724 GO 2,000H 2,200H
-3z =ES 4,100/ 4,510/
HRAZy I A 10,400 11,440
HEAR—Y< ATy A 10,4001 11,440
A AN 6,000 6,600 THLHEDH
=y h—&—(#) 8,700H 9,570H FHLEDH
W2 —T 57— 7,300/ 8,030 7 LEH DI
TP — 22,0009 24,2004
AH—h 14,300 15,730
BT 702 3,900 4,290
Uy 1,600/ 1,760
et A — =TT X 7,600 8,360
HBRAH—h 14,6004 16,0604
INAY T R 750M 825M
B (NI A BRM 3,500 3,850
H [V ¥ad—yvrA 530 583H
v TF— (=B F D) 4,400/ 4,840 HLEEDH
NS INC AV 4,500 4,950 FHEE DI
—yhr—F— (71 —) 5,300 5,830 FHLEDH.
Yo—H—F4H > (H) 9,100 10,010/ HLEEDH
WY Hr—77— 6,000 6,600 HLBHEDH
o oa—h 26,4004 29,040 HLEEDH
W EDNE A (F—FE) 15,400 16,940 B
Bl BEBIRENIA Yy sR) 9,500 10,4504 EZN N
WEEREEIEA (KAL) 7,100M 7,810 BRI A
X)NT 4 a—h 22,5004 24,7504 HEFDH.
H/A |(FyTra—b 25,0001 27,5001 T BBE DI

cieisu
BHBEE

RKIE [(RE] 7 5% 4 R 7T 5
TEL 052:585+:2524 (E &)
T 450-8505 44 i B H AT X4 BR1-2-1




EHmEER HIkkEMER (2 3F£H)

PR O 4 AAEfTtE FLA A (10%) s =
TLH— 25,500 28,050
AT A 12,300/ 13,530
Ty —r% 4,100 4,510
BF | R7&2A4 FEO) 2,000/ 2,200
BARa v 4,100/ 4,510
BERAAZv IR 10,4004 11,440
= AR (#) 5,000/ 5,500M FLEEDH
=y h—&— () 9,700 10,670 TEH DI
BERo—77— 7,300 8,030 FLEEDOH
A 23,500 25,850
ZI3—h 15,800/ 17,380
FBuh7 o2 3,900 4,290
YR 1,600 1,760
YA — =TT R 7,600 8,360
BERAH—h 14,6001 16,060
INAT T A 750 825M
ZFINAV I A SR 3,500 3,850
A L¥ag—Yyr=z 530 5831
7T = (F—=BF ) 4,400 4,840 FEE DI
=y IZNMT L —) 4,500 4,950 TEZEDOH
=y hp—g— (L —) 5,300 5,830M A EEH DI
Y= —F 4 H(8) 9,100/ 10,010/ FEHEOH
BEEHO— 77— 6,000 6,600 HEEDH.
v Fa—h 26,4004 29,040 TEF DI
W ENEA (h—1HE) 15,400M 16,940 BIRTEA
B @FEREEEA (Vay 7 E]) 9,500 10,450 BRIREEA
WERIEENITA RANAH) 7,100/ 7,810M BRI A
F)LTF A a—h 22,5004 24,7504 TR D
£/ (Fy7ra—h 25,000 27,500/ FEEDOH

Sl
%ﬁ%,

ISU
515

KIE[KE] 7 %= 4 IR E 5
TEL 052-585-2524 (E &)
T 450~8505 4 HEMH XK 4LER1-2-1




